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BUSINESS MATHS -[ ANsWER KEY)max. Marks : 100

Choose the correct or the most suitable answer from the given four alternatives.

Thevalueofxif [ ' O] .
3 \TB Olis
1 N

(@ 0, -1 3 x [®y 0. 1 (c) -1,1 (d) -1, -1

2X+y X y ‘
Thevalueof |24z y 2 is

22+x z x
(@ xyz b) x+y+z (c) 2x+2y+2z f] o

1 2 3 3 1 2 |
fa=l3 4 2|then 1 2 3| is
2" 8 9 2 gial :
(@ a [BY -a (c) 3A - (d) -3A
a 0 0]2
The value of the determinant |0 b 0] Is
0 0 ¢ ,
(a) abc (b) 0 [©) a2 - (d)-abe
adj(AB) is equal to : . , : LI .
(@ adjA adjB ~ (b) adjAT adjB™ - [©) adjB adjA (d) adjBTadjA”
4 -5 : .
The inverse matrix of 52* : is
5 2

_nl(_n
N

mlN N =
N~ b
e

1 5 1 -5 ‘
2. 12 Zz 12

(a) 7/30 (2 . ) ~(b) 7/30 (_2 . ) o)l 3017 (
5 5 5 5

The number of Hawkins-Simon conditions for the viability of :an‘input-outbut analysis is

) @ 3077 |-

EITS

(@ 1 < (b) 3 - () 4 ) [ 2
The inventor of input-output analysis is . . 4
(a) Sir Francis Galton (b) Fisher [(c] Prof. Wassily W.Leontief (d) Arthur Caylay y
A= (11 24) then Aadj A) is | .
(a) -4 -; (b) (4 -2) ) 2 0 . - (d) (0 2 )
(-1 -1) -1 (o 2 ) ‘ ¢ 3
5 5 5 : ' :
The value of [ 4x 4y 4z |is
-3x -3y -3z
(@) 5 (b) 4 Y o (@ -3
If A is an invertible matrix of order 2 then det(A™) be equal to , .
(@) det(A) 1(b] 1/det(A) (c) 1 ' ) 0"
If A is a square matrix of order 3 and |A| = 3 then |adjA| is equal to
(a) 81 (b) 27 - (c) 3 [@ 9
a a a o Pl

n Y2 %9
Ifa=]3, 25 35
au aaz aa:

(a) a11AM s a‘IZA:\Z 4 a13A33 (b) aﬂA“ * 81‘2A21 * 8\3A31 (C) a21A11+a22A12+323A13 @ a1\A11 i a21A2"+ a31A3‘ .

and A, is cofactor of a,, then value of A is given by

I!l ; §|= 0 then the value of x is
(a) -5/8 ©s6 (o -6 [@ 1605
4 3 20 15| : ( 4
Ifl 3 1| = -5 then the value of| 15 5 is |
(@) -5 [l -125 " (o) 25 (@ 0
If any three rows or columns of a determinant are identical then the value of the determinant is
@) o . 2 B2 (c) 1 . () 3
The minor of Xin I . | is -2, then the co-factor of 4 Is o ]
@1 4 2w [t 2 @ 3 Exarmpla 1-2]

kindly send me your key Answerstaauremail id - padasalainet@gmailcom =~ * * ~

Scanned with CamScanner

4


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

1B 5 TS S § e | : ) S N SRR YR LSS T HULES - 5 S S| ty
www.Padasalai.Net ' "'+t U {Ww. Trb - Fnpsc.com
(ct)  18. The adjoint of identity matrix is _._ Pg. NO:8 NOTE (v
[@) 1 (o) -1 | (c) 0 (d) none of the above
LX)  19. If|A],, = -2, when |5A] will be . IKA\ EUAN
(a) +10 (b) -10 (c) +50 (@) -s0
Lb) 20. The system of equations such a[(i_;jx +y=1and x-y =1 then the value of unknowns will be ___ ! ‘7\ ' = 554
(@ (-1.0) (1.0) c) (0,1 : - -
L)  21. Thevalue of n, when np, = 20 is o) @ Q- __?—_I_;SEO
(@ 3 (b) 6 ©] 5 d) 4 Ly -
{d ) 22..The number of ways selecting 4 players out of 5 is
(@) 4 , : (b) 20 c) 25 d) 5
(C)  23. IfnP, = 720(nC), then ris equal to © e
@ 4 © ()5 o) 6 d) 7
La) 24. The possible out comes when a coin is tossed five tlmes@ =
N @] 2 - () B (6 10 (d) 52
(. ) 25. The greatest positive integer which divide n(n+1)(n+2)(n+3) for all neN is
(@ 2 b b) 6 c) 20 d)| 24
(b) 26. For all n>0, nC, + nC, + nC_+ ( _)+ nC,_ is equalto i ID] '
@ 2 21 i ) m (d) n*1
() 27. The term containing X in the expansion of (x-2y)T is
(@) 3" (b) 4" [ 5" (d) 6"
td)  28. The constant term in the expansion of (x + 2/x)° is
(a) 156 (b) 165 ' c) 162 160
(L)  29. The last term in the expansion of (3 + \2)* is %
(a) 81 [(6] 16 (c) 8V2 (d) 2743
Cq,) 30. The number of parallelograms that can be formed from a set of four parallel lines intersecting another set of
three parallel lines is . ) N
@1 18 G (b) 12 E o (c) 9 (d) 6
CC) 31. There are 10 true or false questions in an examination. Then these questions can be answered in
(a) 240 ways (b) 120 ways _R:)] 1024 ways (d) 100 ways -
f_a) 32. The value of (5C, + 5C,) + (5C, + 5C,) + (SC +5C,) + (50 +5C,) + (5C, + 5C,) is
[a 2¢- (b) 25- (c) 2t (d@) 27
La.) 33. The number of ways to arrange the Ietters of the word “CHEESE”"
120 (b) 240 (c) 720 (d) 6
Lb) 34. Thirteen guests has participated in a dinner. 'The number of handshakes happened in the dinner is
(@ 715 _@l 78 (c) 286 (dy 13
Ld.) 35. Sum of Binomial co-efficient in a particular expansion is 256, then number of terms in the expansion is
(a) 8 (b) 7 (c) 6 f(d} 9
Lq_) 36. Sum of the binomial coefficients is
A @ 2 (b) n? (c) 2n (d) n+17
¢d) 37 Thevalueof Bin 7 = 2t o is___ »
@ +1 : ®) -1 () % |@) -% | Example 2+ |
Ld. ) 38. There are 4 questions in a paper each one having 4 choices separately. In how many ways a student can
answer correctly for only one question? , )
(a) 16 (b) 4 (c) 64 d 256 Ezample 212
(b)) 39 If4c, +4c, = 5c, then 8c, + 8c,=
| (@ oc, Bl sc, (c) 8c, (d) oc, ., L
CQ) 40. The sum of coefficients of even terms in expansion of (1 + x)* is 2292 A
(a) 2 (b) 1 [(c) 4. (d) 8
C@ 41. If m, and m, are the slopes of the pair of lines given by ax* + 2hxy +by? = 0, then the value of m, + m,is ___
(a) 2h/b [(b),;Zhlb “— (c) 2h/a (d) -2h/a
LC) 42. If the lines 2x - 3y - 5 = 0 and 3x - 4y - 7 = 0 are the diamelers of a circle, then its centre is
b (3 (-1.1) (b) (1.1) I (1) @ (-1-1)
C) 43 Thex- intercept of the straight line 3x + 2y -1=01s
(3 3 (b) 2 ) 13 (A %
Lb) 44. The slope of the line 7x + 5y - 8 = 0 is
(a) 7/5 vy 705 (c) 517 (d) -517
‘ LQ) 45. The locus of the point P which moves such that P is at equidistance from their coor:lc;r;ate ax1e/s is
y = -1/x

@ y=1/x (b) y = - {@©) y=x
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ch 46, If kx2 + 3xy - 2y?= 0 represent a pair of lines which are perpendicular then k is equal to

Va) " ' (b) -%2 € 2 @ -2
Ca) 47. (1,-2) is the centre of the circle x2 + y? + ax + by - 4 = 0, then its radius
) [l 3 © . (b) 2 - © 4 @ 1
(L) 48 The length of the tangent from (4,5) to the circle X2+ y* = 16 is
(@ 4 L6} 5 (c) 16 (d) 25
) 49 Length of the latus rectum of the parabola y2 = -25x :
25 (by -5 ) 5 (d) -25
Lq) 50. The equation of the circle with centre on the x axis and passing through the origin is
x2-2ax +y2=0 (b) y2-2ay +x*=0 () x+y*=a (d) x2-2ay+y*=0

La) 51. If the centre of the circle is (-a, -b) and radius is Va? - b?, then the equation of circle is
x2+y2+2ax+2by+2b2=0  (b) X2+y*+2ax+2by-2b?=0 (c) x*+y*-2ax-2by-2b?=0 (d) x*+yi-2a%-2by+2b7=0
CA_) 52. Combined equation of co-ordinate axes is

@ x+y*=0 (b) x2+y2=0 (€) xy=c @yy xy=0
Lq) 53 If the circle touches x axis, y axis and the line x = 6 then the length of the diameter of the circle is
@) 6 () 3 © 12 d) 4
(_d) 54. The eccentricity of the parabola is
(@ 3 (b) 2 (c) 0 ‘ @)1 ' ,
Lb) 55. The double ordinate passing through the focus is , . ;
(a) focal chord [(b) latus rectum (c) directrix (d) axis
(b)) 56. The distance between directrix and focus of a parabola y* = 4ax is
(a) a o) 2a (c) 4a (d) 3a
Lb) 57. The y-intercept of the straight Iine%‘- + -‘% =1is __ _
; (@ 3 . ' O () 1 : (d) 12
Ca) 468. The centre of equation of circle (x-3)* + (y-+1 ¥ =16is ____ o Ao | =, 1
@] (31 () (1.3) (©) (1.-3) @ (31 At '
[_g,) 59. "The Cartesian equation of the circle whose parametric equations are x = 3cos0; y = 3sind, 050 < 2n is ' ¥
(a) 3cos? + 3sin’0 (b) 9cosBsind el x¥+y =9 (d) x2+y2=3 Ex3 4L
() 60. If e=1, the conic is said to be
: [(ﬂ Parabola (b) ellipse (c) hyperbola : (d) rectangular hyperbola '
Lb) 61. The degree measure of n/8 is | : _ e
(a) 20°60 i bl 22°30° (c) 22°%0° - (d) 20°30°
CC) 62. If tand = 1/V5 and  lies in the first quadrant then cosb is
@ 16 (b) -1NE [RECE (d) V56
(b) 63. The value of sin (-420°)is :
@ Y3z ) -312 j © % ‘ @ -%
(d) 64. The value of cos (-480% is ; g o : e
' @ V3 (b) - v3/2 ) % , 1@ - %
(L) 65. The value of sin15° cos15° is e
(@) 1 (b) % (c) V3i2 &y v
La) 66. The value of secA sin(270° +A) is . _ /.
A (b) cos?A (c) sec’A O () o (O Rt
c)) 67. If sinA + cosA = 1 then sin2A is equal to 3 BE
LD @ 1 : (b) 2 el o ()Y e
i La.) 68. The value of 1 - 2sin?45° is b ;
@ 1 (b) % \ () % [@ 0 -
i 69.. If sin A = %2 then 4cos’A - 3cosA is : L v \ ‘
kb) @ 1 TORY (c) Y32 e ()N,
3 Lq) 70. The value of 3 tan 10° - tan® 10° is . [ =1 G iy
1 - 3 tan* 10° : . ! . e
wayl 133 BN R () V372 @ 2
Lb) 71. sec'2/3 + cosec' 23 = & ; S Q& cF
(@ -=l2 - [B) =2 7 Ke) = < fd) —® o= s ¢ }
(C) 72. 1ftanA = % and tanB = 1/3 then tan (2A+B) is equal to o o) SR
(o> (a) 1 () 2 ey 3 L ()& g s BT
¢ ) 73. sin(cost 3/5) is £ Hd) ‘
.La @ 3/5 S (b) 5/3 4/5 (d) 5/4
)74. The value of 1 / cosec(-45°) is '
Y @ -1z . (b) 112 () 2 , @ 2
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(@ cos 50° (c) tan 50° (d) sec 50°
& C.d ) CoS X J % V1 = i
13 76. (m) - V1 -sin*x V1 - CO? X is ~ ] | :
i (@) cos* - sin®x (b) sin?x - cos2x c) 1 0 o
i t_q) CU# 77. The value of sec(-509) is © - m‘
' (@) sec 50° [(b)l sec 50° (c) - sec 50° (d) cos 50° ‘
L Cb) 78. The value of cosec™ (cosec n/2) =
15 (@) = o)\ =2 (c) 3 @ St
e 79. cos*30° - sin?30° = - .
158 S @ % b) 12 ¥ I d) V3/2
‘L‘El) 80. t(az\145° - sec’45® = N : Q] » “ N
’ @) 1[ 2 o (b) 0 © 1N2 fdj -1
x2-4x ifx2 .
fic) st M=y s s i<z - then i) is |
; ‘ (@ -1 o (b) 2 ) 5 @ 7 ,
Yl xs2 i X2 o) |
) P2 MM Ax 2 ifx <2 TENTO)Is :
‘ 12 Jj o ()5 (0) -1 (d o0
L (&) 83. Thegraphoftheliney=3is v o B ; .
§' S {{a), parallel to x - axis (b) parallel to.y - axis - - (c) passing through the origin _ (d) perpendicular to X - axis
1 () 84 The graph of y = 2x? is passing through ~ ) : s .
‘ : fal (0.0) ®) @1 @ @0 @ (0,2)
J LC) 85. The grap; of y = eXintersect the y axis at - it @ ) (di)- (1.9)
i - (a) (0.0 (b), (1,0) : 0,1 .
ta)  86. The minimum value of the function-f(x) = |x| is . \ @ ‘
@ oo ) -1 (o) +1 e
La) 87 Iff = 2and g(x) = 1/2%, then (fg)(x) is e
i 1 | (b) 0 () # x
i Cq_) 88. \Which of the following function is neither even nor add? : . : 5
{ fx)=x*+5 ) fy=x8 (c) f(x)=x" (d) f(x) =x
y Cq) 89. The graph of f(x) = e*is identical to that to - : n g .
; fix)=a,a>1 (b) fx)=a*,a<1 (c) f(x)=ax 0<a<1 (d) y=axtb, a=0
i Ca 0 90. If f(x) = x2 and g(x) = 2x+1, then (fg)(0) is : ‘ i . ,
i @ o (b) 2 () 1 (d) 4 :
¥ im ex-1 _ : [ DOES
b CC) 91. x>0 x - ' it _ A '\';i
4 (@ e @net T @t () 0 |
(b >)  92. For what value of X, f() =‘—’;—f,|?- is ot continuous? . .\! '\ ‘ ‘
@ -2 (@ 1 () 2, @ -1 ;
" 1). " ‘ |
QA) 93. de' (;) is equal to _ - ‘
\3 @ -1/x (b) -1/x (¢) log x d) 1/xz K, ‘=‘
(/(‘1) 94. didx (5e*- 2 logx) is equalto | A . . : 2
[al 5ex-2/x (b) 5e*-2x (o (e) Ser-1/x (d) 2log x \
5. Ify = e then d?y/dx* at x = 0 is ~E g P
(a® ° .
4 (b) 9 () 2 v (d)y O
| \
s 96. d/dx(a) = g : . ‘
\ (e (@) 1/xlog,a (b) a* (c) xlog,a f{d)| a*log,a
: 97. Pick out the explicit function : » :
', (/C) (@) y=e +ex. (b) y=3 @x3+y3-xy=0 (d) x2-2xy +y*=0
lim sin2x _
(co 98 0 "2x ‘
(@ 0 (b) 2x () 1 (d) -1
99. d/dx (3x+2) = ,
(d> (a) 3x+2 (b) 2 'y (@1 [{d) 3
100.1f y = logx, then y, = oo
(e (a)y 1/3 ’ (b) -1/x? , e} 2 (d) -2 ;
' ‘ ‘ _ \H .5C M-\P)’\‘L\/B;E&.
:;_T;-“y;!\(;rAEATAH : ’ i -
[ v
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